O\/l"c—ém/

@ - 3«}}’,\“5’ l’cras*&,ﬁ c[afoan/ T J'i’AJ.rLéq“aréeyé ué«é V0 brrn
- /com;e»nﬁmce abierd. atomd V,“r: 4(92rh_1

Wedit w2dl (hdexy, Lomu had - pod absorplnde palsen,

héu‘fn;r z'.u'-.u‘j’/.\"-i -‘Dz/r /\-w." f;qz(w( Zc’l’»w. 7. ;;

n = . 2 . 2
[~ o] 7-?; gw“l’)w g(b\/) = E’x"f‘ _é/_ (’.’ 4
& “’02‘» w*._t'.jf‘ﬁu
. N el
© ‘7\/\ de = — -4
ST W e Vobog, i
\/’—‘ ”
: 2 . . -
1 R T
oy~ SV,
h"e- 9.11 -1 -3 /(}
ol e = A.coz- 15
Ag = 000224 &= 830 16 Fut
2 , . p ~4
h, = \[ N + A€ = 1.F70¢3% = An= (210
—————————— —
C 3c0cr!
2) H(( - odictins d\Ervt = \4;) - = 27.%¢a! 2.4 ne
Rewe = 288457 |
hinotmo s my, = Toefim, | M T 35 45 F by, by, = .6¢. 70*2?3
teluke. bt n= DR g0p
h‘H + Iy,
¢ Urcrt  talost VMJZ’ a a'e J:‘l 4'{(/’/.ZI,‘
" JE
%hlw:f (5\}0 = 5432 "70’71’5/"1 e = (-"'T > K= C’f\(}u*
K= 450 NV,
e
b, vazd LA N - |
el v;‘. i L= —
¢ 44‘ L(:j AEN'[ T (L\roz
+ . ]
Fo= = A27A = 0.72%7 un,

\J(ln Ak,




) (o)
Reg(wy = 4+ 2P ) MmeCD 4,

1)

1y e ()

"

>0

I £ (-w) ==Im g (D

1 < A 1
Reetwy= 1+ 2P § Imecw) 4 ) eles’
v]

W' - W't
Ny
=a+2P 0 A LA g
7T o wl-w ALF IR
/\
2
‘*’4"3 D, W A)"*c—o



